8 7 6 5 ‘L 4 3 | 2 | 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 20130217_ITR_Rotor_Housing 1
2 20130213_ITR_Rotor 1
3 20130217_ITR_Bearing_Block 1
4 20130217_ITR_Front_Block 1
T 5 20130217_ITR_Back_Block 1
6 20130217_ITR_Coupler_Turbine-side 1
T = 7 20130217_ITR_Shaft 1
|I rﬁ rﬁ] E‘J ]‘J 8 20130217_ITR_Bearing_Spacer-A 1
9 20130217_ITR_Bearing_Spacer-B 1
10 DIN 628 SKF - SKF 7303 BE 2
11 99142A580 snap ring Retainer Ring - McMaster Carr P/N - 99142A580 or equivalent 1
12 18-8 Stainless Steel Spacing Stud 3-8-13 x 5-1-2 L |Black-Oxide Steel Spacing Stud 3/8"-16Sz, 5-1/2" L O'all, 1-1/4"&1- 12
@ O-all Thrd Lengths 1/4" Thrd Lengths - McMaster Carr P/N 90281A646 or equivalent
13 [serrated flange nut 95922A130_95922A130 g%rc?vfggrf'ﬁnge Nut - McMaster Carr P/N - 95922A130 or 24
14 18-8 Stainless Steel Spacing Stud 3-8-16 x 2inch L |18-8 Stainless Steel Spacing Stud 3/8"-16 Sz, 2" L O'all, 1" & 5/8" 12
O-all Length Thread Lengths - McMaster Carr P/N 92997A362 or equivalent
Button Head Socket Cap Screw 1/4"-20 Thread, 1-1/2" Length -
15 |71306A384 McMaster Carr P/N - 91306A384 or equivalent ‘
@ @ 16 Preferred Wide FW 0.25 1
Grade 8 Alloy Steel Hex Head Cap Screw, 1/4"-20 Thrd, 3/4" L,
17 92620A540 Fully Thrd - McMaster Carr P/N - 92620A540 or equivalent ]
18 90145A509 18-8 Stainless Steel Dowel Pin 3/16" Diameter, 7/8" Length - 1
— i i McMaster P/N - 20145A509 or equivalent
2X @ .313in| 7.94mm | ¥ 1.060in|26.92mm
3/8-16 UNC - 2B ¥ .750in[ 19.05mm | 19 Dowel Pin - 1in - 97395A491 Dowel Pin McMaster Carr P/N - 97395A491 or equivalent 6
N/ @ 3800n[9.65mm ] X 90° NEAR SIDE 20 [Siicone O-Ring AS568A Dash Number 263 SASGk b8 o g Aoty Dash Number 263 - McMaster Car P/N - 1
@ @ 21 Silicone O-Ring AS568A Dash Number 266 3':'3'82?265§D$'2%L’ﬁ‘§gf68$ Dash Number 266 - McMaster Carr P/N - 2

ISOMETRIC VIEW

TOP VIEW B 8.840in B SCALE: 1:2
SCALE: 1:1.5 — [224.54rmm] -
| 1ee0in
[49.78mm]

@ 2.188in[55.58mm | T 1.140in[ 28.96mm ] 2.960in o 19s0in |
2 NPT [75.18mm | [49.78mm |
@ 2.425in[ 61.60mm | X 90°, NEAR SIDE | 1960in | .625in L

[49.78mm ] [15.88mm ]

@ .906in[ 23.01mm | THRU

3/4 NPT
@ 11.250in N @ 1.100in[27.93mm | X 90°, NEAR SIDE ;
285.75
| mm | C D<——|<_‘

TurboPump Inlet

m

T e

)

[259é.99680ri:1]m] j | 2 < |>\ [ z

Vel A~
| D
.
B N
] / |
7y SN VL N S / nﬁv\ v . = \
J RNy PIIIRI ORI
: L\ ' h\ [ X IO\ =
O = o=
AqJ BACK VIEW
A SCALE: 1:1.5
RIGHT VIEW
SCALE: 1:1.5 SEIQR AAAA
Turbine Inlet FRONT VIEW T
SCALE: 1:1.5 @ .703in[17.86mm ] THRU ALL
1/2 NPT
D .890in[ 22.60mm ] X 90°, NEAR SIDE
@ 1.141in[28.98mm | T 1.100in[ 27.94mm |
1 NPT
D 1.365in[34.67mm | X 90°, NEAR SIDE A
| »4@
/ / - l
A \\\
DETAIL F [T |||
SCALE2: | \Il"
QoW
>4 41"', ,
7=\
=
! //
‘\‘ ‘ y 72Vedhi
%
N4
AN
N
SECTION B-B
SCALE1:1.5
DETAIL G
SCALE2: 1 ( &
{
\//
SECTION D-D
SCALET - 1.5 Copyright 2013 - Infinity Turbine, LLC - Turbine/Housing Covered Under Patents: 7146999, 7726331
SsEézllchgl\]l C]_Cs UNLESS OTHERWISE SPECIFIED: NAME DATE
SECT|ON E-E DIMENS\ONS.AREININCHES DRAWN Eddie ]02/20/2013 INFINITY
SCALEN 15 s o TURBINE.
ANGULAR: MACH+ BEND *
LLLLLLLLLLLLLLL * ENG APPR. T|T|_E
THREE PLACE DECIMAL +
MFG APPR. 20" 3 |TR
Q.A.
DETA'L H TOLERANCING PER: COMENTS:
SCALE2:1 MATERIAL SIZE |DWG. NO. REV
AAAAAAAAAAAAAAAAAAAAAAAAAA
THE INFORMATION CONTAINED INTHIS [ | |FINSH E 20130208_ITR_Assembly
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE
NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN
O T I RITTEN PERMISSION APPLICATION SCALE: 1:1 WEIGHT: SHEET 1 OF 1

o
N
o~
(6]
—>
N
w
N




	Sheet1
	Front View
	Back View
	Right View
	Top View
	Section View C-C
	Section View D-D
	Section View B-B
	3D View
	Section View AA-AA
	Section View E-E
	Detail View F (2 : 1)
	Detail View G (2 : 1)
	Detail View H (2 : 1)


